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Answer ALL q'uesti'dns. L

PART A — (10 x 2 = 20 marks)

 What is frequency reuse?
How the adjacent channel inference can be mitigaﬁéd?

" What is Brewster Angle?

State the difference between Coherence time and Bandwidth-._

" What is need of Equalization in wireless communication? = = .~

HOW the pseudo noise sequence can be generated?

- How the capacity of FDMA scheme is computed?

:'In 3G cellular communication, what type of multiple access techmque 18 used" L

State the difference between circuit switching and packet sw1tch1ng, R

State the difference between wireless and Fixed Telephone network.

PART B — (5 x 13 = 65 marks)

(a) With necessary sketch, explain Handoff mechanism adopted in cellular RESSE

system. Also provide your understanding on its challengeys.

Or

(b) Derive an expression to reduce co-channel interference experlenced by o
cell edge user in a seven cell reuse cellular architecture. . :




o .Demve free space plopaga‘mon model and d1scuss your understandmg on' o
:_-.iplopaﬂatlﬂﬂ mechamsm influencing fading in wueless channei -

Or

(b)On what basrs fadmc is classified into small and larve scale” D1scuss the S

. : Splead

"':."ji('é)'_:-'f:.:Explam the Dperatlonal mechanism and txansmﬁ;ter and 1ecelve1-"
-'--']f"lmplementatzon of GMSK. : 3

Or

5) Dlscuss your understandmg on Diversity Techmque Aiso compare and. )
' :contrast 1t Wlth respect to Equalization techmque SHEREE

W1th relevant sketch explain the operation of multzple access techmque
used in 2G ecellular system. Also derive the expressmn to compute'
’"'capac1ty of TDMA scheme. . .

. (_}.:'))_5_5.'3._.__Exp1am the working principle of CDMA system. Also Derwe the capamty
S '_of CDMA scheme with Multiple Cells in cellular system

i ;"Pronde your understanding on evolution of wireless networks

Or

(@ Explam the working mechanism of Universal Mobile Telecommumcatmn
SR Systems >

PARTC—wdx15415mmk@

- 16,0 (a) _If the transrmtter power is 1W and carrier frequency is 2 é GHZ and the
SRR "_ﬁ::_ '-__receiver is at a distance of 1 mile (1.60934 km) from the transmitter.
- Assume’ that the transmitter and receiver antenna gains are 1.6.
" Determine the received power in dBm in the free space of a signal, the

" pathloss in dB and the transmission delay?

Or

3_: .(b)f'_ZICOfﬁPé\fé and contrast various techniques employed in cellular
commumcatmn to expand capacity of the system.

9 20933

'='3-:.':'fad1ng effect caused due to multipath time delay splead and Dopplex'_ : SHNSE




